rww longmenshuju.com

)ﬂ!E) Pj %’é izﬂ&'nﬁﬂ -SPTER




R R AT, wBFHEK, —(EHxFE)

T o o B
ek D D e o S

= ET58% ‘a A

2= wnsBx ?

¥

F—~IRT RITEFELBIIAIR

L H—3H,

(I AE [] — - T P DIk B2
ISP AT 2

(2) P 4% ELRAH S0 B A I, il 83X 0 26 L

2 ( ) Hoh — R M S — i
LR ( ) X P 2% B Y B2 I Al
( )

(3) AR Ay _F T W 4530 HAHC )
(4) KI5 B B AR 5 ELAH C )

B B, GERRA IS 7 R X7

(DAL PIFRELRMBCE L. ¢ )
(2) P 7% 2 BOAH &5, X 9 2% 2% Bt — & °F
7, (

(3K ITIE VIETr T (8% 10— %€ & T AR
iN (

(4) P 2% ELZRARZS , )X 0 4% B2t — € B
HHEEE . ( )
GO FHEN T —EREH, ( )

\
- 4w

3. T HIBRPY A% B E B AH AT CF AT

7T R X

( ) ( ) (
( ) ( )

A T W A% 4R EOAH 3 L7 (AR LAY

“7 AN EE ELAY IO

MFERKS(T) B

B%

(D

[/
e

VAT .

A (

(2)

A ( YA E M ATHIZ B (
B H AN

) H &

6.

Pr—r . W — 0,

(DA — 3K K I ARIr U = AT IR
P47

(OB — KRR ITIE AR P IR, i = R ITIR B
EEE

(OHA (OH



;ff%ﬁﬁ@wwm

BHHER, DR, (2853 8)

FIIRET EHEX

Load A sy i R T AR AR IR

2. TEETE E A S B H Lk L&
AN AL B, B — B X S B i K E L R
A2 K7

3. —ik, CRIE#IERWT S HAERS )
(1) A [/ —F- 181 N 5 3 B4R Ah— o5 2 0 1
2R 2, AT LA ( ) 5%

D1 @2 QT
(2) ¥ — 5K K TR AR 3T Wk, J T 5 1 3t
JE A ),

OF17 @ H A7 T

al

(3D P Hh e o ) — AR R B )

/AN

B C D E
DAB @AC ®AD
DAE

T MR LA BT b A B A O3 A A A
H? FHE HEATR 2

(]). (E)O
( ) ( )
(3) (4)@
) ( )

(

-k O S0 AR 2R R TEL

MFERKS(T) B

6. MA.B.C = Hu 5 &8 n] DLE 8] 242K, &
WP AR LR Fe it ? M A

7. OGRS B R A ORKAE L A SRR K
FPCHRA SRR R 7 R A

xRl @

8. THEIRIRRS N E iz & kb
I R S ARG s 2= L AR SR 3] Y
A RN R E R IE .,




kel FEFATE, LB GERE, —(EHxFE)

=.wirseR 8

3. fER TR
T

T VR NI | B T

Lot A il — 2 B B EHZFAT .

(D
Ao FEN WA, — AN R 8 K, B
5 AKRMKFTIE., (BAY/NETIENEK R
A 1 JE KD
(2)

o, DU RS 5 S AT K L EE B TR — 5. A F MG i — A K Y 5 8 K 1 IE

SFHEZ A A K, DL R A Y B R U T, CEA/NETIEHK N 1 JEA)
& HWEL S Z AT 5 — R EL N
2 W O 5o RS K R
A B & D
M 1 ml ul
AR AR A A
OF B OF BN OF B OF
HEHE L1 AfAf T

MFERKS(T) B

2= P P o /
6. £ I — 4 AT 4R Bl — A i R IETTE
1 ! i i 1 1 ! 1 1 1 !
I | 1 1 1 1 1 1 1 ] ____
1 ] 1 1 1 1 ] 1 1 1 !
1 1 1 1 ! 1 1 1 1 1 !
e Bl it deti el o el il St melntls Sl el
1 1 1 1 1 1 1 1 1 1 !
JRN P (| N
1 1 1 1 1 1 1 1 1 1 !
| 1 | 1 1 1 | | 1 | |
Tt TrTAaAT T rTIT T T T TT T T roaT o
1 1 1 1 1 1 1 1 | 1 |
e el e e e e B e e e
| 1 1 1 1 1 1 1 | 1 |
L1 | | | 1 | 1 1 1_
1 T T 1 T | ! 1 1 1 1
1 ! | 1 1 1 ! 1 1 1 !

AT A = A m K’ R Can #
ﬁ)bmmmfm#@?mhﬁﬁﬁm

@

A

”*lmﬁim

o M A4y E Y ABLCB 847 46 fN

éﬁO



— M

1. &8y & SU iR
F—ignt
. (DADZ—
0.001 10
(3)8 54
6 35

Z'B 0.6 100 0. 35

T4rzZz— 0.01
(2)0.1 0.01 0.001

3. (LDESENL 874 0.001
(OHOEHL
4 544~ 0.01
4~ 0.01

701 (HESET
(WDOESILA 95

[07] [017] [0.007]

e 17 1 1
| 10 | |100 | 10 | ‘IOOOI
5. (DX (DO X WX
6. i — FHENAN —EH
—m/\
7. (1)70.07 (2)700.7 (3)7.007
CERAME—)
® iR
3 27
1. (l)m 0.003 (Z)m 0.027
543 7
(3)@ 543 0.543 (4)@ 7

13
0.07 (5)—— 13 0.13

100
2. I
3. (1)4.58 W

(2)0.407 =

(3)90.6 —
4. 0.3 0.25 0.27 0.029

5.1.72 2.8 0.5

6. (1>0.2 (2)40075.69 (3)14.859
99.79

7. 0.4 0.8 1.8 2.7 3.4 4.2
4.9

8. 0.6k 0.092Kk 0.352K 0.008

K0.306 Kk 2.4k
9. (1)0.476 0.467 0.647 0.674
0.746 0.764

(2)7.046 7.064 7.406 7.460
7.640 7.604
(3)40.76  40.67 60.47 60.74
70. 46  70. 64
% =R
1. (hiEw OFHs 0.01 OF
1 +4 01 + OF 441
B/ 440.01 (3)23.46 —+
=D (4)50.48  FL AU
2. (HO 2B 3HO© WO
)
3.32.102 =+ fH—-F 120.02
—H - FAEE 4.8 5 54+
541 540.1 540.001 54F

54H 6.3.56 3.65 5.36 5.63

6.53 6.35 35.6 36.5 53.6

56.3 63.5 65.3

% iR B

1. (LDKRE AZ
(2)0.150  (3)0.005 0.050
0.05 0.050 (4)60 600

2. B—IEME 0.6=0.60>>0.06

INER R P

3.

4.

5.0.80JC 0.05m 1.20J0 20kg
A A A B A
0.30m 600 JG
A A A

6. 0.650 9.800 1.064 10.000

0.100 20.001
7. (1)3.030 0.330 30.30 330.0

(2)3.300  33.00 (3)3.003
0.033 300.3 30.03 0.303

£ HiRm

1. (D ()X (3 X
(5

2. (1)0.80 (2)0.900 (3)5.0

3. (LO OO (HO®

5. 8.50 J& 86.00 J& 0.80 JG
1. 05 JG

6. 129 89.8 0.8

7. (1>10.090 (2)10.09

2. N Ees Ko b
% —iRet
L. (L> > #H K < <

T4 > > HH

2.> > > < > > > <

3. 6.06>>0. 66>0. 606=>0. 60=>0. 06
0.03<20.0371 << 0.371 << 3.71 <
37.1

4o NEZRK Y TR B MK

MERES(R) BJ

R /NAREAR C HREA.
Bt I 7 4 B B AR 4 i e
BNk

5.1.99 2.08 2.32 1.89

iR

1. (1)10 10 (2)402 3 100
0.405 B&LL 100 (3)100 100

2. (DX ()X (DO WY
(5) X

3.204 2040 20400 2.04 0.204;
380 3800 38000 3.8 0.38;46
460 4600 0.46 0.046;0.8 8
80 0.008 0.0008

4. (L) /N A5 % 8 W7, TR B0k
100,
2) /NE s AR B =, TR R
1000,
(3) /NI 1) 22 8 Bl W 67, i 45 o DA
100,
(O /N AR Bl — A, s B DA
10,
5. 0.75X100=75(kg)
=750(kg)
6. 80X 100--1000=_8(Mfi)
7. 524+10-+-10=5. 24
% =R
. (LB (HC 3C

0. 75X1000

1 (DA

2. BRLA10 B&RPA 1000 BRLL 100 7 10

3.0.05 0.12 0.24 0.3 0.37

4. 75.6 73.6 84 0.08 1.003
0.08 790 70 0.34

5. 100.8 1008 10080 66.8 668
6680 245.0 2450 24500



6. 34=100X1000=340(T3%) 3 7 6 8 2. 46 J1 0.0046 12 305.89 J7 s 809 T 94
7. £:0.28X1000=280(k) 2. > < < = < 0.030589 & 67.8 J1  0.00678 10 100 1000 1000
P& :0. 048 X1000=48C) 3. (DL.52K (2)0.2152Kk  (3)18. 8 i ¢ 9675.3 T 0.96753 & 6. 3.9k 0.30 1.8c 0.70%K
8. H#.264=(10+1)=24 4. 1.57 K >156 HK>15 43K >148 96300.7 Ji 9.63007 1. 365070. 4 20. 20K
B 24 X10=240 JE K Ji 36.50704 12 7.5 5 1 2 2 7TUEERME—)
3. DNEHEK B 5 K 5. 306000 T 7% =306 Wi 306+ 3= 3. (1)35.7 Tk (2)42.195 T2k 8. (LD OFKE OKX
% —iR 102 (4 4. (D1.8 HTAK (2)709.76 1 A 2)DOERE Ok Ok
1. (1)3.6 (2)0.764 (3)0.96 6. 1670 kK /43 >1.48 Tk/4»>1200 5.49.242 4912 104.54Z 10512 9. 50. 005
(4)2.4 (5)9.06 (6)0.36 K >0, 4T K 4y 6. (1)65789440 (2)6579 E_IRE
(7)10.42  (8)3.24 7. 0.8 TK=800 % 0.6 T k=600 %k 7. 304999 295000 1. (1)9.53 9.5 (2)9.6436 9.64
2. (DX ()X (DY MD800+700=1500C%) FENIRAF (3)0.7169 0.72 (4)670.8 671
3. (D1.83Kk (2)8.1 Tk 6.3 T @12004600=1800Ck) 1. 10 9.9 9.87;1 1.0 0.99;2 2.4 75 78 1.23 0.875 7 80
Ko (3)65.6 Wi (4)1.67042 Tk 1800—1500=300Ck) 2.5 2.48;21 21.0 21.00 45
(5)6.72 T3¢ ORI, T 300 K, 2. (HLO 2O BHO® WO 3. 1560 253.5 0.2 27000
4. 600 0.6 500 0.5 & 108 it 5@ 4. (1)62143.5 62144  6.21435
5. (DTFw mW (2)JFEXK K L. (OLEERA A T4 B 3. (1)13.70536875 13.71 6.21 (2)0.17501949 0.18
Bk TR Kk K (2)0 (3)6 6.0 5.97 (48 13.39724852 13.40 (2)709. 8 (3)42. 8365
Gk TREEEARME—) 7.6 7.57 55.2 2316.2 5. = < < < >
£ IR 2. (1)9.7 6.1 9.0 4.3 4. (1)19 (2)3.62 (3)1.81344 6. 1.25=10X1000+10=12. 5(43%)
1. 1842 60 2.9 700 345 480 (2)0.55 1.00 8.58 10.00 1.8 7. 7.96<C8. 83<C68. 8< 524
2090 2090000 4.54 824 18 3.10 9.9 9.88 9.876;51 1.0 5. 9.500 10.499 8.550 8.649 5t
400 0.97 0.971;2 2.5  2.47 27.615 27.624 0.795 0.804
2. 168 JE>Kk 126 ffi  8844.43 K 2. 473 6. EfTHEXAMEHN 6. 53 Fx 1. 842.5 2350 234 8.6 0.0043
350 T3 4. (D& 9 (7 8 (34 3 653 0. 01, fj 6.530 FR~ 6530 4> 0. 00524
3. (D17 67 (2)6 400 (3)138 (130 29 (56 5 0. 001, 2. (1)0.01 8 (2)6 5 2 7 2
42800 5. (1)38.5 39 75.8 76 18.69 ¥k g3 (3)0.209 100 1.004 (4)7.0
4. 0.8 K=80 JEK 0.4 K=40 EK 19 (2)4.82 4.8 74.65 74.7 % — iRt 7.030 (5)76.48 F  76.5 7
80X 40=3200(3F-J7 JHK) 8.04 8.0 1. (1)0.3 (2)0.23 (3)0.064 (6)100 (7)800.08 J\H HEIN
5. 2.56=-100X10=0. 256 (Z££) 6. 5.890 5.891 5.892 5.893 2. (D1 0.1 0.001 (2)3.74 (8)12. 9684512 12.97 12
6. (D9 (2)3 (N4 DOTEER 5.894 4.75 4.76 4.77 4.78 (3)0.36 (43 8 (9)8.520 0.258 (10)10.083
E—) 4.79 3. (1)4085.08 10. 833
8 = iR i FRIRR 3 (2)0.16  4368000. 58 3.(HX (DJ B)X W)X
1. 3.2 0.6 3050 8060 18.04 6 1. (LA " kW e 1L C4.0.7 0.47 0.093 0.901 (5) X
8 S

MERES(R) BJ



4. (HLO R HO WO
5HQ D
5= < > > < <

W

7. (1)1.68 240 6 50 909 6
40 7 80

(2)5.34 4.1 13 3.0
(3)24.8 0.58 345.628 12.01
8. 750 1.62 4.7

9. /NN A B S A B ROR 2%
IE ) K 8 B 5 0 G 2% i IR G 2K
(LINER

10. 0. 95> 10000=9500 (i)

11. 6 T3 205 3¢ =6205 w1 T3
200 55 =1200 7%
0.144 FF3& =144 3% 0. 350 T 7%
=350 7g
144 75 <7350 75 <1200 7% <6205
b

12. (1)0.5X100=50CK) 0.21X
100=21CK)
(2)50X21=1050 FEF )

Z BN DR

F—iRnt

1. 0.8 ¥fEms

2.6.7 0.76 2.9 16 6 0.05
3.3 0.1 6.9 10.4

3. (1)8.25 (2)7.4 (3)75.9
(4)21.4

4. X 5.4 X 6.15

5. 1.4340.37=1.8CK)

6. (1)64.96-+22.75=87.71(J0)
(2)98.45—22. 75="75. 7(JC)

7. 7.54+4.8=12.3 4.22—1.43=
2.79

&% iRt

1. 5.6 4.85 9.8 13.25 2.7
0.1 19.7 19.6

2. (1)42.97 (2)1.89 (3)8.32
(1)4.52  (5)9.063 (6)41.69

3. X 60—3.48=56.52 X 8—

7.23=0.77
4. 20—18.4=1.6(J0)
5. MR EFK B, 0.92—0. 86

=0.06(T%)

6. 12.80432.80=45.6(J0) (KR A
ME—)

7. 0.854+1.46=2.31(J0)

%= iR

1. 1.5 18.37 16.64 6.86 1.45

4,26

. 32.82+17.18=50(J0) 60—50=
100t REHEL—NEiLAR,

3. 5.4+6.3=11.7(W) 11.7<C12, fir
P4,

4. 1.63—0.17=1.46CK)

5. 15.640. 8+18. 6+5. 8~42(J0)
Wb BN 8

6. 1.01+1.42=2.430J0)
F.2.43—1.01=1.42(J0)

(8]

Z,:2.43—1.42=1.01(J0)

5 7Y iR B

1.

10 10
0. 95

10 4.6 2.2 10 16

2. 10.94 7.38 6.47 5.06

@

A

(1)0.21
(4)4.54
1.85—0.18=1. 67CK)
12X6—47.9=24. 1(T-3)
99.8—73.18=26. 62(J0)
(DA Fhil (A EH
4.354+6.75=11. 1(J0)
(2)A Fhil . BEN
4.35+12.4=16.75(J0)
(3B Fhil A Eh
9.5+6.75=16.25(J0)
(OB Fhl.BEM
9.5+12.4=21.901)
(1)8.5040.88=9.38(4)
+0.45=9. 34
9.38>9.3 5 S5®T
8.75=0.63(4})
0.6340.01=0. 644

(2)5.34 (3)13.43

8. 85

(2)9.38—

% HiIR AT

1
2
3
4

.52 9 11.8 0.2 0.7 0.5

. 14.5 11.43 7 8 4.7 8

. 100—48. 00—1.50=50. 5(JC)
76.50 + 66. 50 + 54. 00 = 197. 00
(JL)

. 98.5—41.26—41.26=15. 98(JG)

. 168.70+342. 304+125. 40+ 248. 60

MERES(R) BJ

=885.00(J0)
7. 5.45—2.85=2.6(T7%)
R 2.6 X2=5.2(T30)
FH.5.45—5.2=0.25(T 7))
N IR BT
.> = < < >
2.18.7 9.4 9.99 4.76
3. 1.8—0.35=1.45CK)
4. 44.04 3T 5.96 JG
5. 630.52+630.52—79. 54=
1181. 5(J J8)
. (1)645.374532. 46-+703. 54+
890. 43=2771. 8(J7 70)
(2)890. 43—532. 46 =357. 97(J1 JL)
7. 47— (10. 80+35. 40)=0. 8(JL)
47—(10. 80+25.60)=10. 6(JB)
10. 6—0.8=9. 8(J0)
#1255 3

=

FE—iR A

1. 10.1 18.8 6.2 9.2
10.5 21.6 2.8

2.7.25 11.21 2.15
3.09

3. X 54.7849=63.78
X 6—3.75=2.25

4. (1)5.384+6.85=12.23(J0)
(2)15.75—6.85=8.90(J0)

5. 1.2+8+15=24.2(kg) 24.2<C30
iAELEEeRE]

6. (DHZERBK T2k
1.1540.15=1. 3CK)

40. 5

10. 25 22



OB AT /0K
1.3—0.09=1.21CkK)
7. 11.08+12. 6—0. 8=22. 88 (JE k)

%2R

1. 19.75 11.26 34.3 24.6
54.01 43.59

2. 24.3 20 84.32 33.2

3. 36.8—18.4—14.8=3.6(T %)

4. 0.8+0.8+1.24+1.2=4CK)

5. 30—7.63—8.37=14 ()

6. 34.6+7.4+34.6=76.6(T5)

7. 13.48—3.98—3.98—3.98=

1. 54 (JE %)
8. 12.80— (5. 60+3.95)=3.25(m)

% =% A m

I (/NS (O 458

(3)2.1 4.4 8.6 28.6
(4)0.63 0.36 0.99 0.27
(5)2.54 7.46 7.68 2.32
(6)28.8

2. (D ()X (X X
(5) X

3.(LO (2O BMHO WO
(5)®

4. (1)5.6 4.85 3.8 12.3 0.98
0.97 5.32 0.63 6.1 4.8

(2)5.002 1.244 1.58 11.76
(3)14 10 11.21 16.14 9.32
11.8

5.0.72—0.44=0. 28 CEH7F )

6. 28.6—8.6+28.6=48.6( T 3)

7. 64.50 +41.75+ 112. 80 = 219. 05
)
219.05<C220 /NI ER S

8. 45.30 7. 4.70 J.

9. (1)78.50+3.00=281.50(J0)
(2)78.5042.50=81. 00(JD)
(3)88.80+3.00=091. 80(J0)
(4)88.80+2.50=091. 30(J0)

10. 3% . 25.63 4 37.25 + 24.75 =

87.63(J1 L)
PE K. 53.21 +47.62 + 45.79 =
146. 62(J5J0)
T :146. 62—87. 63=58. 99(J7 L)

= FITEEX

£ — iR

1. (DAL (OHEMEYH FEL
MEE FIT WEH

2. (DX ()X ()Y
(5) X

3.0 X J X Y

4. X J

5. (D2 (D1 4 6. W%

&Rt

1. W&

2. REBMNE A RCHMBELNITA
LB, LR B E .

3.LO (OB O

4. (DFEHE  3:00 (DHAFEEH 6:00
(OARFEH 6:10 (DIFEFH 9:00

(4) X

bt

%

CETR B RO L B
- HOE RN F [ KA R 2L U R
LA KA Bl . I P

8. AKX, N 3 £ B 5 HL A 2 B

N

I A ENHE 5 A A5

EZiIRES

1. W%

2. BRI B 3K 5 P A% P AT £k ) R R
LB AR

3~6. BE

7. EATHY A AR B AT R AR T
FrekIn) iy 3 28 B, P 17 4R [A) Y 2 2%
Be R A,

m BTk

L. F# Fo ik 4%
E—IRET
(D5 DA 4 D 6 k2
B OM@% LB,
. g
- EMEIE AR 6 4% A7 A
AR 4 4%, 72 N W EIE SEm A
R 5 A% R ESFRE 1M A R
KRIE e % 4 ¥, #m B 3
L BERS B AT L SE B I

= W N =

MERES(R) BJ

5. W&
6. JHBIE A B AT 4 A, T OF
AR T TR S AR TR AT

T 48K
g iR
1. (D& 10 (OAF 11 3HLE 6
2~5. W
6.//7:3\J%%K%*>

E =R
1. (D
2. W%

3. W%
4. B 90 B 90
5. 12 S Bl

5 M0 iR

=

2. (DA i 90 (2)B ¥ 90

3. W

R Lo S 3 o s AR NS U I o 2
90°, PR AR 4 K40 A LR )
PR 3 k% TR A 3
A SR Y AN P L el NS
O S B £ eSS 90°, B 1) A7 A
2 kARG R 1A

5. AN EIE G O &S £ iE %
180°, BRI A7 -8 7 #% . il BE 13X I
METE A — KT,

(2)90 (3)180



2. T ARA B

£ —iRmt

.V ~ X X

2. W& &:%§< 4. O

5. K H

%2R

1. (D2 (HB" 3)D D'(HC
chH

2. (D I ms GO E (2 m E B B
N

3 ~5. 0%

% =8t

. X  ~ ~ N X
2044 1% 1%
3. WixIRREIERE.0 — £ H H
A C D E
4 ~6. Bg

3. MR
E—iR

R IAEEmCY 7,
CE3AEIEmEY T,
. (HLDOBO @O®OO®

W N

3HOD®

=

2. F/1AEEmES 7,
3. (HOOB®G® (OO

4. %(%%Kﬂﬁ~)
5. <1>@<%«$mﬁﬂ

(B R AME—)

EO)

(2)/]

l
4. B R R
L. JRCEE X R b i A g
2. ®
3. O Ci#
@ B i#
. B 5.0 g

#3553

OMD#E OM A %

% —IRAF

.~ O J O

2. e A B B RS 3 A&, B A

SERS 10 A% Bl S 4 I A A ) 2 10

AT I SR AR O

3.(HI 90 (2 90

4. W&

5. 3 R AH DG AT KR AT DL AR Jl—
DHKHR Tem WIETTIE . W E KA
7X4=28(cm),

% iR
1~3. W%
4. (HLO® DOOG BHO®

5.8 Ly =M T 6 4%,
P A # 7 45 AR ) =R

PIFRES(T)

e

(LD

HW—AIEFTE ¥ i K H e
S AER 10 8L FE A R 2 A%
AL K T B Ol — A IE 5 B
CERARME—)

i

% = v3 T

(LHE EZL
GHD2 1 OfF 4
O 90° W 90°
N (®frmek b Am A
(O OV )X (Y
(5) X

(3)90°
(O C

(2)1

()@ BHO WLO

5H®

%
(D
90° (H®

(2)>® JIi90° (3 i
JE 180° (& 2 AN ME—)

TR IR CE VR D

. g

(DM P Q

4. W 5.0 mg
F fRR [ B

% —iRmt

(1)(40+45) X3 (2)(80+70) X4

(65+75) X4=560CK)

(30+35) X 6=390( 77 K)

(260+340) X29=17400(&)

(55465) X 7=840(T %)

(36434) X 26=1820(T %)

(56464) X54+134=734(T %)

iR

1. (1)480+ (55+65)

(6004-200)

1700 (27+23) =34 (/B

240+ (24+16)=6(K)

450+ (14. 6415. 4)=15(K)

88 (10. 740. 64+10. 7) =4 (/NEP)

1800+ (46. 5+53. 5) =18(4r4)

20 X 2--(50—40) =4 /NP

(504+40) X4=360CT %)

£ =R

1. 60+3—1=19(HH

2. 2 T2k =2000 Xk
41(3)

3. 8+1—1=7(%)

4. 500+5X2=200CHH)

N

2

(2) 6400 —

S

2000+=50+1=



5. 150=15=10(3%)

5. (14—3) X 2.3+13=138.3(J0)

4.

W 5. 54+2+1—4—3=1)

6. (6—DX2=10043% 12+6=2CK) FERLAEN 38.3X2=76.6(J0) UKUKET#E T 1 4
7. B :1600+-16=100(HH 1. (1)(70475)X2=290(F %) 6. % F=iEr
MHE\W;IOOXZZZOO@%) <2>290f<7o+75>:2fd\a¢> R L (X (2 )X W)Y
2 M0 iR B 2. (38+32) X6=420(F%K) (5) X
1. 7+1=8( ) 15+1=16(14>) 3. (1)1200=(116+124) =5C/NEf) £ —iRm 2. —2C 0C —5C +5%C
2. 20X54+2X4=108(cm) (2)(124—116) X5=40(T>%K) 1. (LO+10C —1C @1C 3. (DLW (DA B
3. 60X3=180CK) 4. (148. 6-+151. 4) X9=2700 FJ5K) ()0 EFHELE ZEIFELE 4. (L—7C +8C +18C
4. (120020+1) X2=122(%) 5. 15+1+1=16(1) (3)100 100 #ELHE (1) +55C —10°C  (Dfm:CH HBIK.D iy
5. 40+ (21—D=2CK) 6. 20X2+19X3=97CK) +40°C 5. 11°C
6. (4—1)X3=9(ZX) 7. 114+6=19(#H) 2. (1)20.8 (2)—4.6 (33—, % iR Bt
7. 16=4=4C) 12-4=3(Jf) 8. 5X4=20(H) 3.(1)—2.3 (= (/) — L NEFIAIRIR . —4 —3  —1
STHE . (4+3) X 2=14 () 9. 30+ (3—1)=15(F) 40 (DEF U+ 5 5 G +3
LR .14 X 2=28 TH 15X (10— 1) =135(F) —94.5C 2. —3 +5 —4.5 43 +6.5
125573 10. (1) (60+50) X5+140=690(F k) DOEF—HNT =K 3. (H—400 2k (2)200 —200 K
1. FiE—:58X5+52X5=550Cf) (2)(604-50) X 7—140=630(T) —183°C (3 NARARFK 0 A E 200 KB 221,
Tk (58452) X5=550CK) 11. 2 43 5h=120(F) 5. 8RR B ICAE : +200 K B RAME—)
2. 3000+ (22+28)=60(K) 50X (61—1)+120=25CK) = —im 4. W
HH.22X60=1320CK) 2 :28X60 12. 400+ (96+104) =244 1. (D=3 (—5 (3)—15 5. (H—5m ()P 6 (3HH&K 5
=1680CK) 13. (12--3—1) X15=45(#) (H—20 (HIK\EW 4 T (4) —4m
3. (45f15)><_12+18:738<%ﬂ<> s B R 8 (6)—30cm [ FEA 45¢m 6. %ﬁ%%})&—‘(skm Y L B 1] AR R 4m;
4. 1524—1=37(#H) (Y +12 —5 PR RS & A 2m, 7E — 2m (W £
37TX2=T4(HH) 1. 4X6=240J0) 15 B, HE MR
5. 20X (12— 1) =220(4) 2 FE—.60X2+30+30=1805E) 2 EEGES 802 225 T 185 i (2)500m
6. 5X (41— 1)=200Cf) FE . 50X 24+25X2+25X2= 5  ERER
o . ¥ —4.5 —79.6 —— —3.03
7. 48+6=8(HF) 200(J0) | 2 L. (L@ @B B}HO WO
3X(8—1)=21CK) 200—180=20(J%) o REBRIESG 0 MERE 2. (D—6.5 (D)
8. (46—1)X12=540CK) J7 % —fHH L fHH 20 JT, 1 8.0 BEAS S IE 0. AR 2 8L 3. 6 —2
540+204+1=28 (f) 3. 25X 646X3=168(T0) 3. A:+3000m  B:+1500m 4 2155k —11034 ok —28 K
4. FPI A/ JE 75 X2=15000)  C.—1000m D:—1600m +382 K

MERES(R) BJ



S W

(1)—500 %
—4 0 +12

(2)
—12  +4

AP B |

(LO®—23C @+16C (2)—18

(3)—12  (4) Az #E T & 5 0. 03
oo (5)—5C fi (6)—4 —2
+3 45 (DHIEH (8)—8C
—16°C

2. (HX (2HX (DO WX
N

3.(H® (B HO® WO
5H®

4.0 +20,+60 —18,—35

" XK

6. (D3 —12 (b WAL IR

WEpe  (HHiEE B

7. +12 —7 —14 +20

8. (1D—5 ()& 8 (W 6
(4) W

—

W N

+10 —2 +9 44 —1 —38
+4 —9
(HmE (2)5000

t. . git®

1. %it k&
(D3EFR B (M) PR ER
WE AR SR BB AL (3)30
183.8 182.5 209.8
(1)12500—8000=4500(JT)

4. (13—7)+2=3(F)

. 79X 6—(74+81+68+89+85) =

(2) 3500 + 4000 + 5000 + 6000 +
8000+12500=239000(JC) (3)M&

AN

2. FHEK

B TR 2 A ARG —HE LR

=HERE 3 A AFNE VY HE, B HE R (R
HZ.

2. (D 1.
3. 21+3=7(2)

24+4=6(%=)
76, U Aot e S B B WA
B Z .,

4. (360+ 420+ 280 + 360 + 380) 2.

(6+7+6+8+9)=5000)

(DHA4+16+12+18+15) +5= 3.

15CK)
) s —. A 2 NiSEIEF .
(B R AME—)

77 BW=R 67, R 78,

N HFERE ;
1. 2Rk E&F
(DO 031 032 2 032 1 134
(2)2 2
0 0 031 0 0O O0; 1.
0O 0 031 1 0O 03
0 0 02 1 0 O0;
1 1 0;2 2 0O 03
1 1 0;1 1 1 1;
10

MERES(T)

6 Ff
NG N
(L6 F (224 2 MR ERA
Ko JEARA 12 Ff B 0A 13 AL 0T
PIAT R —EA 2 A8 2 AL ERY
NI A AHTE

2. A= £ 54
(DAL (86+16)+2=51(T35)
WH.51—16=35(T3%)
(DR (86+16)+2=51(T¥)
F1.51—16=35(T75)
R, (64— 12) +2=26(J7 1)
MR .26+12=38(JTTT)
PUAESR . (240—84) +2=T78( )
TAESH . 78+84=162( )

4. (13+3)=2=8(J7 )
5. (106—24) +2=41(4)
6. (DK .(84=+24+8)+2=25CK)

T.25—8=17CK)
425 CF 2K

(2)25 X 17=

L —PE.(92F2X2)=2=48( )

THE48—2X2=44(CN)
§ K N E A

(DM HER 2 AT R B —
He NG = HERS 1 A FfA B 255 Y
He B 4 2056 A HE XA HERR AT
9NHMA,

(O FHE P (560+120) =2 =340
&N

(D FAE

A5 :340—120=220(A)

(2)33
(3)(36+54+62+29+40+43) =6
=44() (DK

Gt | A — A | = A | R 2 A

FEL/H 40| 8| 9 | 7| 6 |10] 8

K AY R/ 55 | 16 | 12 | 8 | 10 | 9 11

4. A:(94488+93+100+75+90) =

6=90(4M)
B:(95+93+89+ 100+ 78+ 92+
90) +=7=914) B HWEE LT
i1 9]

L (DIEER, 6

(2)2 W8k 2 WLk,

6. 10 Fh:
7. A4 (840486) —2=463 (i)

FAE . 463—86=2377 (i)

. L (ATT—85)2=196(%%)

1% .196+85=281(%%)

. (1) (460+254+366) +3=360(J0)

(2)(460+254+366) ~ (64 456+
60)=60J0)

10. 41=5=8¢----- 1 8+1=9(¥H)
N.E2ES]
#0553

F— iR it

1. (1)0.60 13.5 (2)3 8 6



w N

8.
9.

(3)64.005 (4)67 (5)0.043
5.75  (6) 6.5 40. 07 30
4.0703 (7)0.67 86 3 4
7.02

o< = > =

35.9 0.359 359 8 0.8
0.008 930 9.3 0.093
10 10.0 9.97 4 3.8 3.81

. 0.145 0.13 3.8 24.8

. (1)960  (2)13.70536875
;ﬁlz O 24K
%3 45k H
1+-10=0.1(7P
(1)90.99  (2)10.09

13.71

(3)60. 99

% iRt

1.

5.7 3.1 0.77 4.9 0.2 1
0.13 6.82

(1)14. 28
(4)6. 04
(1)25.6

(2)15.45 (3)1.24

(2)30 (315.5 (429

4. 51.35—31.31=20. 04 FEJ7 )
5. 150—59. 8—48. 9=41. 3(JL)

. 8.84+25.8+7.5+15.4~59(Jn)

60 JL>>59 J. 60 JLERE H

7. INMER BRI £ im0
0.540.8+0.65=1.95(T k) (&
E NS

8. 54.6—8.4=46.2 46.2+4.8=51

%= iRm

1 ~4. W%

5. (LO B 90 (2K

6. &

"X

8. W&

2 I B

1. (1)800-+(86+74)=5(/Mi)
(2)H .86 X5=430(T %)
2, :T4X5=370(T %)

2. (1354145) X25=7000C%K)

3. (1D100+54+1) X2=42(f)
(100+5—1) X2=38(M)

. 36X2=72CK)

5. 5 —: (400+80) + (42+438) =
6 (/NEF)
THEML . (400—80) = (42+38) =
4 /NP

6. 560-4=140(T %)

P4 (1404-30) =2=85(TK)
18 %4 .85—30=55(T%)

£ R IR

1. (D+4 (2)—500 (3HF 100

2. —5C +8C —13C

3. 142.3 193.7 157

4. (D4+3+5=12(T*#)
12+3=4(T%)
(D16+4=44/T %)
9+3=304/TK)
25-+-5=504/T )
345,/ TR AT LB —
IORES 531N

5. (H—4 (2H+3 D7

&78+7L*Hm—4wfd

X ARG R I, FE RS
A= 4% 30g Wi0 HE FR 7 2 49 7T AN

%“48 }\”c

BB R

FE—IRE
1. 45. 64
2. 6.34 6.45 6.5 6.57
3. (1H)+126C —150C
(2)8041.82 (3)465.8 (4)180.8
4. (D1 332 533 734 9;5 11

BE¥Em 1
L ED 7
R Fm = AL .
(2)12

PSS AR
(2)81+6=132e+ 3CHD
13X 3-+3=42(H)

6. @

% iRt

1. 150—110=40(J0)
40—18.4—18.4=3.2(J0)
WHEE 2 BKEZE.,

2. 0.924+0.24—0.17=0. 99CK)

3./ 8.3.84+7.9=11.7CK)
=R 11.74+7.9=19. 6CK)
3.8411.7+19. 6=35. 1CK)

4. 100—10. 80—35.40—25. 60=

MERES(R) BJ

A= AN N 2
N=IE A 2n £ 1

16 WHEA n MEFIE, N
HA ML N AX (i—1),
5. (1)20=6=23weee 2D, W5 20 T

® X =awm

28. 2(J0)

2400+ (15. 4+14.6)=80(K)
68X 4—62X4=24(TF k)
6.18+6.85—11.52=1.51
BB . (84+15X2)+2=57CK)
B 84—57=27CK)

HA R 40 i

1. (1)80.42 P (2)80 (3)4
4.26 (4)37.600 324.5 13.9
(5)<< = > = (6)0.08 32
860 7.04 (7)+24C —8C
(OFEH (990° T 3 90°
£ 3 F 3 (100@ ©

2. (DY ()X (IHX (DY
(5) %

3..(HLO @O0 OO WO
5@

4. (1D7.8 3.6 13.7 6.6 0.45
12.5 0.98 1 (2)77.12 65.68
45.96 58.95 (3)D29.04
©®20.4 @10.1 @3.53

5. W&

6. (DB 450 4% 90 4%

JNWR 455 43 91 4%
(2)3.5—0.2—0.8=2.5CK)
(3)2 FKk=2000CK)
(2000+504+1) X2=82(3)
(1)420+4=105(T )

. (105+7)+2=56 (T %)
2 :56—7=49(T %)



el & 7§ S & AR

Qs nE ESE

}6 Fii/@ iEﬂ Hi-i %?E?




111111111111111111111111111111111111111111111111111111111111111111111111111

S ETE5ER
LN

126—18= 38+12= 43416=

223—16= 17+432= 81+29=

73—39= 69—31= 13+67=

a-Ed Pk

6.4540.3= 2.7—0.25= 5.4540.542.5=

1.6842.3= 0.6—0.47= 1.44-0.3640. 64=

0.18+0.8= 7—0.35= 8.75—6.4—2.1=

3.5+0.42= 7.45—3.2= 6.6+0.64+2.1=

4.6+0.17= 1—0.24= 8—4.6—3.1=

4.2640.7= 1.42—0. 4= 3.84+0.1241. 2=

1.740. 24= 0.8—0.34= 8.56—6.5+3=

0.36+0.6= 1.67—0.07= 0.57+0.1344. 1=

12.3+0.62= 4.78—2.6= 9.124+3+1.1=

9.8+0.12= 3—0.87= 0.784+0.140.22=

5.54+0.45= 6.15—0.1= 1.88—1.340. 4=

2.74+0.27= 7—3.3= 0.914+0.6—1.4= A
A

0.340.63= 6.52—0.7= 10—8.2+1.8= jl

HRBE - H D% I ke Bde 38 5 5, 3t 2 48 B 2045 2+ 7,



&@E@‘-ﬁ 5

Lol S S S S S S o S

116+27=
54+423=

67+39=

6.45+8. 3=
8.3—6.25=
12+0.5=
12.56+5.8=
113.04+7.8=
27—0.8=
16.4—3.2=
0.3—0.18=
11.74+2=
0.8+6.28=
62—11.7=
A 0.7—0.25=
A

42 7 454-0.8=

@.BR Lk

2.05+6.25=
12.5—0.5=
18.36—5.8=
120.84—7.8=
26.240.8=
13.2+3.2=
0.12+0.18=
13.7—2=
7.08—6.28=
50.3+11.7=
0.45+0.25=

8.25—0.8=

UFEREHZFT(BY)

135+27=

162—27=

360—180=

14.75—6.45+2. 3=

8.3—2.2—1.1=

12.5—10+2.5=

17.76 —12.7—1.06=

25—23.8+1.2=

0.5—0.25+4+0.25=

8§—0.8+8=

o—1.2—3.8=

7.4—1.13—2.87=

5.26+0.74+2.6=

10—(7.5—2.3)=

2.8—(1.6—1.2)=

13.6—(3.6—2)=

HIRBE I REVBELT 5 EK4E.



qqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqq

B ] & A B K & A7 B B A
(42~48) (36~41) (30~35)

10 24
3.95—1.24= 5—1.44—1.56= 6.942.7+3. 1=
5.82+1.17= 3.745.41+2. 3= 8.3—1.54—4.46=
6—3.7= 8.242.7—10.5= 7.0343.41+2.59=
4,746, 2= 1.5+4.2—0.23= 10—0. 35—0. 65=
3.7—0.07= 2.340.7+1.8= 2.840.944.2=
1.62+0.38= 5.2—4.2+3.07= 2.84(1.6+7.2)=
8.6—3.1= 10—3.5+45.5= 0.3440.25+0. 26=
2.6540.05= 8.54+0.4+1.1= 3.28—2.4+1.72=
1.03—0.9= 2.7542.25—5= 24.840.3244. 2=
12.44-0.37= 5.7—(3.8—2.4)= 1—0.27—0.73=
4.83—2.53= 45.2—(7.9—5.9)= 1.5+4.240.5=
5.643. 4= 1.6—0.4+0.5= 2.67-40.7640.33=
1.2—0.15= 2.3+1.3+2.2= 5.66—3.94+0.34=
1.4540.55= 0.4642.54—2= 5.740.89+0.11=
5.7—2.5= 8—(5.9—0.9)= 1—0.67—0.33= ;;
1,920, 08= 10, 7— (6. 340, 7) = 1.2—0.940.8— 13

J

HIRAE JHEm BRENELEEHE W B EGESIAAR, AL HEHXNTECERT KT,




>»>

o

- ohge..
&M’r 45 DU R (BY)

Lol S S S S S S o S

1.6 3. 39 3.6 | 68 87 167 6,16 0.16 344 6.21  8.71 8
0.22 4.5 0.2 65 115 123 213 9.3 6.5 695 1 7.63
1.2 1.3 1.21 BEX S 144 4 11.5 5.1 0.9 1.25
0.95 1.5 1.5 {7.88 2.7 5.2 f9.92  1.92 10.44  10.23  0.55 3.38
0.23 3.1 4.4 6.8 2.9 1.5 1137 737 147 6.6 3.4 1.82
2.22 2.7 0.16 16.8  12.9 10.17 % 36 A 682 0.13 4,99
2.62 3.5 2.23 12,85 9.45 28 DmEn 0.9 1.1 6. 96
0.21  3.89 1.11 6.9 6.16 9.4 o 0.9 0.96 | 0.13  1.58 1.04

% 31 R 7.94  10.4 17.5 0.46  0.22 0.54 %39 |
RETING 0.85 6.3 4.6 a4 1z 032 REIAG
67 40 29 (7.75 0 5.45 9.1 BEHS 3.5 8.8 5.4
29 62 18 ! 8.37 10.8 0.8 2.55 4.5 7.3 14.6 8.4
56 12 38 429 7.6 2.9 5.35 8.3 0.7 8.4 1.43 9.1
HE%S .88 125 6.25 L1 2 L2 BE&3
2.7 47.5 0.5 8.46  11.4 6.3 199 0.23 1.1 16,9 4 10.8
3.3 47.2 2.8 12.63 8.7 7.88 8.5 2.9 7.49 13 5. 35 5.75
4.4 476 0.4 3 %34 471 8.8 13.6 13.75  0.75 7.85
6.1  66.4 3.6 CRENG 165 3.27 5.5 1278 4 15.4
0.3 62.3 1.7 P58 17 3.5 F1.97 8.6 9. 86 fo.s 1 4.6
1.2 82. 6 1.4 55 25 0.5 139 2.6 8.23 1 17.35 0.47 0.4
0.6  60.7  19.3 | 23 61 8 Lz 0 1 185 3.9 6.7
0.4 64. 8 33.2 BEE3 47 7.27 13 176 0.5 3
3.1 67. 3 22.7 I5.5 5.5 5.4 Lo.5 3 12 L1072 2.3 7.8
0.5 75.5 52.5 4 1 1.5 1 0.26 3.5 13 185 0.5 10.9
1.7 49.4 4.6 871 8.7 1.7 % 37T W 1150 9.34
2.3 71.5 0.5 fas 4.5 0 11,66 1.43 1. 92 12.75 098 7.8
0.4 100.9  79.1 0.8 0.8 0.9 181 164 103.6  8.80  4.24 7.75

%32 R 5.7 5.7 2.69 104.6  125.2  1021.5 %40 W
BN 0.67  0.67 7.4 1028 1001.25 2.094 7.1 5.47 9
40 2 20 0.7 0.7 10. 2 1.762 2.004 4.51 10.9 4.8 7.9
52 10 59 18 1.8 20,4 9.7 2.31 2.55 1 3.63 .07 11.6
91 20 30 1.5 1.5 5.5 12,33 1.76 130.3 2 12 0.85
BESS 0 0 2.6 1024 1206 10046 5.5 7.4 2.6
763 10.81  10.81 0.2 0.2 2.6 110.35 1010.59  2.641 4,93 10 29. 32
1.4 1.25 .25 6.3 6.3 2.4 {1.481  2.331  3.85 2.7 0 0
5.2 5. 54 5.50 %35 W 2206 160.7  1009.4 | 15.5 4.3 6.2
5.9 6.1 6.1 CREING 164 10244 9.555 1 0.13 1263 L5
7.7 7.2 7.2 L0.9 0.26 0.5 {135.1 5.555  10.5 {12.77  43.2 3.5
1.6 1.58 1.58 61 6.8 0.59 % 38 W 23 2 3.2
1.66  4.41 1,41 6.1 9.9 0. 49 CREING P57 5.1 8
0.9 1 1 BETS 19 23 0.58 1.3 6. 89 7.75
5 5. 89 5. 89 413 0.13 6 0,51 3.8 4.3 x 10.9 10
0.3 1.1 1.1 {5.15  1.15 10.23  i3.8 2.6 0.47 {7.65  2.75 6.5
0.2 0. 99 0. 99 943 143 11 BE&3 648 1.1 28.2
10.82  5.22 5.22 6.37  0.37 16.21 115 1.2 3.3 % 41
0.2 0.97  0.97 88 4.8 4 278 421 1 CREING

%337 {13.52  1.52 3.67 0.4 3.2 15. 6 i 108 50 59
IRET /N 12.64  4.64 11.35 1.3 4. 10 207 49 110
39 76 159 L1267 2.67 7.83 P3a8 141 4.5 L3 38 80




e
iﬁi;‘?ﬁg% "
B b b L R R D b b b e e e R R R R R P e e R R

BE43] P2 3.7 1.1 £ 90 5 8 100 230 115
6.75 245  8.45 | % 44 T 70 5 6 210 170 170
3.98  0.13 2.4 17 15.6  2.< 60 4 7 i 180 130 130
0.98  6.65 0.25 b o8 1.54 = {90 6 8 290 500 210
392 4.25 9.3 R < 60 8 9 720 420 70
477 0.76 0.3 0,285 0 - 50 6 10 500 540 480
4.96  1.02 5.12 {63 0,309 < i 200 2 9 i 900 290 1010
194 0.46  5.06 125 1 < $ 47 R 100 350 2030
0.96 1.6 1.8  10.95 8,04 < BmEAG 260 1900 220
12,92 2.18 13.22 8 0.7 > 200 9 120 300 1200 240
9.92 213 1.1 15187 < 100 4 5 % 50 R
5.95  6.05  0.98 1.3 4.02 < is0 9 300 RETNG
2.97 3.7 0.11 .11 20 < BE43] 351 299 327
0.93  5.82 3.6 0.827 0543 = 1200 33 4 538 400 314
F 12 R T A < 600 9 2 984 490 442
BTN L 49.5  5.19 = | 250 1220 5  BHE%3
143 116 162 0.0127 87.1 > 5 20 4 200 24 16
77 23 135 09 0 < 5 420 7 200 48 700
106 67 180 %45 W i 210 8 2 i 80 60 19
BE% | EEING 5 1040 2 80 31 100
14.75  6.45 106 60 80 140 | 560 360 1 6 20 10
2.05 8.3 5 150 90 240 510 8 2 192 36 210
12,5 12 5 24 60 g4 7 680 6 168 2200 7
18.36  12.56 4 BE4Y 7 350 5 360 10 350
120.84 113.04 2.4 250 250 1000 180 7 8 800 18 10
2.2 27 0.5 150 150 1000 400 350 4 800 3 90
13.2 16.4 15,2 1250 1250 1000 % 48 W 1000 1800 72
0.12 0.3 0 70 70 360 | BB 8 5 160
13.7 11.7 3.4 70 70 1300 7 5 7 100 6 3100
708 0.8 8.6 15100 5100 4800 1 70 50 0 %517
50.3 62 4.8 3535 3535 2600 700 500 700 | 240 150 240
0.45 0.7 2.4 i 300 300 250 | HESS 30 110 147
8.25 7.45 12 70 70 300 10 5 3 490 500 49
%43 T 500 500 250 19 8 4 5 400 180
2.71 2 12.7 L300 300 6800 | 11 4 8 | 50 2400 41
6.99 1141 2.3 260 260 600 6 121 10 500 80 9
2.3 0.4 13,03 | 200 200 230 17 41 4 120 2100 18
10.9  5.47 9 % 46 5 1 1 28 6 24
3.63 4.8 7.9 Dmarng i 6 41 5 i 126 30 2600
2 4.07 11.6 200 200 50 7 7 48 60 120 300
5.5 12 0.85 | 75 75 360 5 7 5 600 11 180
2.7 10 2.6 | 330 330 100 i3 8 155 9 4 11
0.13 0 20.32 BE&S 4 7 U7 700 140 950
12.77 4.3 0 80 2 9 2 3 101 140 40 180
2.3 43.2 6.2 70 3 120 6 9 98 1150 6 12
9 1.7 3.76 90 4 5 %49 R 16 4 39
.05 5.8 2.1 i 50 7 500 | 210 160 80 %52
2 1 6.7 80 7 7 160 140 700 REIAG
3.2 3 0 L 50 5 4 ' 160 88 110 60 30 50
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